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First: (2x)(5x)=10x (2x +3)(5x —8)
Outer: (2x)(—-8) =-16x

Inner: (3)(5x) =15x =10x* —16x+15x—24

Last: (3)(-8)=-24 =10x* —x—-24

How to multiply a binomial by a
binomial using the FOIL method and
a Smiley Face Method?

FOIL stands for First, Outer, Inner,
Last.

Examples:

(2x - 3)(5x +9)

(7x - 3)(2x + 3)




1. Multiply a binomial by a binomial:
(i) (a+2) and (a + 10)
(ii)) (m+5) and (m - 3)
(iii) (@a—-5)and (a+ 1)
(iv)(m-7) and (4 - m)
(v) (x-7)and (1 + x)



1.()a%+12a+20 ANSWER
(i) m2+2m- 15

(iii) a2 - 4a - 5

(iv) -m2 + 11m - 28

(V) X% - 6x - 7



3. Multiply the following binomials:

(i) (ax - by) (ax + by)
(i) (x +9) by (y + 2)
(iii) (10 - ab) by (ab + 2)
(iv) (ab + 1) by (ab + 10)
(

v) (Xy +yz) by (xy - yz)



D (i) a%x% - b%y? ANSWERS
(i) Xy + 2x + 9y + 18

(iii) -a2b? + 8ab + 20

(iv) a%b2 + 11ab + 10

(v) x%y? - y*z*



